ERAMFEZTHREE-ER(GMN7F02AAFES)

EEED E2ERETHEAMFDIEL (ha) BT EED
AR RN et ﬁ%:;g ﬁ%ﬁi Rl m | @ |zom| &Ft | 2 3
250378 BATRR B BAR F=— O 1 1 0 2|k % N
250413 BATRR B BRat TKEE RRIMHE SkEE O 0 5 0 5| A% KR S=hYh
250422 REMER |pn ) | B o 1 i of 2lxm |mamz
250379 RERATAR (AR CANE) (5% T5 O 0 0.5 0 0.5| Rt
250468 REATAER (AR CARNE) (F& REF O 0 1 0 1|&#HhA
250494 REATAER (AR CIIRET) |# #Hit O 0 1 0 1|&#HhA
250444 REEAMAERX X GAIRNET) [#ik £ O 0 1 0 1|HDA
250450 REATAER (AR CANE) [ <F O 1 1 0 2(i@mMsHhy
250446 RERATER ﬁ%égﬁﬁim HAf 4230 O 1 0 0 1|3
250375 REATER %égﬁﬁ’%m EiD A O 1 0.1 0 1.1|KFd
250445 REATER %égﬁﬁ’%m EH#H BEE O 0.5 0 0 0.5 4
250458 REATER %égﬁﬁ’%m BUM IERE O 0.6 0 0 0.6k
250544 RERATER %égﬁﬁiﬁ) = B O 1 1 0 2[4 FR
250465 RRATER %égﬁﬁ%ﬁ) &k S O 0 1 0 1|FvAY (Taval—
250392 REATER m%é&%ﬁ) @ K& O 0.5 0 0 0.5/ 4
250449 EATER FER(ZEH) | At O 1 0 0 11£ ZS
250467 EATER FAR(EEH) |[BX ER O 1 0 0 1| HE
250545 EATER AR (ESHE) % Fl5h O 1 0 0 1|7k #d INE K=
250492 EATER ER(ZEH) |SE F O 1 0 0 1|wCs ERRHED
250471 EATER ER(ZEEEH) |/\K FE O 1 0 0 1|7k #d pN= INE
250448 EATERE AR (EEHE) |%E A O 8 0 0 ES pN= INE
250543 BRATER (FX (REET) =i EM O 1 0 0 1|7k 7@ % K=
250474 EATER (AR (REE) B R’X O 2 0 0 207 RISHRES |[LWeD




EEZD E2EHLTH=RAMEDEL (ha) RIEFEED
DHES|azs| TOHE | EM R&XEBH ﬁfﬁég ?%ﬁéi Rl m | @ |zof| aF | 2 3
250490 TREATRER (AR (REHET) IR EfE O 1 0 0 1134
250542 TEEATRER (AR R [ KE &iE O 1 0 0 1|7k #g %
250421 9|REATILRX (LR (HEKHET) |H@ HEF O 1 3 0 4| 7K Fd EXR
250511 9|REATILR [JLX (FHEAKET) [H£it HRARE KRIMHE RARTE O 0 1 0 1R IN A D18
250377 g[REATILR [JLX (HEAKHET) |R ZFF O 0 1 0 1|fEXR
250510 g[REAMILR [JLX (HEARHET) | EFF H3h O 0 1 0 1R ADA
250512 I[REATHILR [JLX (HEARHED) |Hteit BELGCH ARIUGR B B O 10 10 0 20| K= %=
250376 10[REAHILR ;';;Z('EHB s M O 0 10 0 10(FE /I By HE
250461 | 10[fEATILE [ D [gm mE o of of ilnz  |xz  |mwm=
250420 12|t FiH WE &% O 0.2 0 0 0.2| 7k &
250382 12|t Ft N B O 0 0.2 0 0.2|HHM A
250383 13| |H = BT INEE B O 0 15 0 1.5|H#MA
250384 14| FH IBARENNET [/ B O 0 0.8 0 0.8|&#MA
250381 16| F IB/IN BT E A O 0.2 0 0 0.2| 7K@ Joyal)—
250380 16| F IB/IN BT fe@ #E O 0.4 0 0 0.4| 7k &
250489 16| IB/IN 1 ET s BAT O 0.3 0 0 0.3 (7Kg Ay <k
250472 16|F3H IB/IN 1 BT ATl Fik O 0.2 0 0 0.2k (k&)
250534 20|E&TH IBE®&TT A 5FA O 2 0 0 2| K Fd
250441 20|E&TH IBE®&T™ Bl EX O 1 0 0 1|7k &
250366 20| E&™ IBE4™ INEE B O 0 1 0 1|&#MA
250435 20|E&TH IBE®&T™ Ell E O 5 0 0 ES %=
250589 20(E4&Th BE&™ BH FEz O 0 1 0 1|&ADA
250440 20|E&TH IBE&™ BK #BE O 1 0 0 HES
250434 20|E&TH IBE®&T™ Bl & O 1.7 0 0 1.7| /K %5




EEZD E2EHLTH=RAMEDEL (ha) RIEFEED
DHES|azs| TOHE | EM R&XEBH ﬁfﬁég ?%ﬁéi Rl m | @ |zof| aF | 2 3
250452 20| E&™ IBEA&T Z NI e O 05 0 0 05|4F3
250454 20|E&TH IBE®&T™ fEH 1EE O 0 1 0 1|3
250507 20(E4&Th IBE®&T WFr 55— @) 5 0 0 5K
250436 20(E4&Th BEAT™ BR=# 7UUKE21 H)I EE| O 10 0 0 10| 7K 7@ %
250433 20| E&™ IBE4™ @K = O 1 0 0 1|7k #g %
250590 20(E4&Th BEAT™ L Y @) 1 0 0 11K
250362 20| E&™ IBEA&T ERN &KX O 1 0 0 1|7k #g
250533 20|E&TH IBE&™ (LS IR PN O 10 0 0 10| 7K g
250359 20|E&TH IBE®&T™ A =H O 0.3 0 0 0.3|k
250371 20|E4&H BEL&T HREH MIUSIRELE— REIRMHE ML BE @) 0.5 0 0 0.5|7KF# e
250370 20|E&TH IBE®&T™ 2H =X O 1 0 0 1|7k & Sl 54
250535 21| E&H |5 {5 BAET A 5FA O 8 0 0 8|7k Fig
250367 21| E4™ |5 {5 BAHT BE ng O 2 0 0 2|k
250585 21| E&TH |8 {5 BAET 7 fEST O 10 0 0 10| 7K g
250403 21| E&TH |5 {5 BAET WA FH O 0.5 0 0 0.5|7k &
250400 21|E4&Th |8 £ BA BT TEH =2 @) 0 0.9 0 09(2Hh>
250363 21| E&H |8 £ BA BT ERN &KX O 9 0 0 9|7k Fg
250561 AEE |8 £ BA BT IS+ A O 1 0 0 1|7k &
250562 AEE |8 £ BA BT NEE EE O 2 15 0 17|k %@ INE
250443 2|E4TH |48 SHT BIE BE O 1 0 0 112=h%k
250365 2|E4TH |45 S ET HRAeH JLFM RERER KR 2 O 0 10 0 10[FvA_Y |TOyal){KFE
250364 22| x4 |B4& ST i AR O 05 0 0 0.5| /K&
250361 2|E4TH |45 S ET A F— O 1 0 0 HES
250358 2|E4TH |45 S ET Pl EE O 3 0 0 3|k Sl 848




EEZD E2EHLTH=RAMEDEL (ha) RIEFEED
DHES|azs| TOHE | EM R&XEBH ﬁfﬁég ?%ﬁéi Rl m | @ |zof| aF | 2 3
250447 2|4 |45 S ET ARSH LHEE KRIMG LE #X @) 15 0 0 15|LARX  |FvAY [KFE
250582 2|E4&TH |48 SHT rE EE O 0.2 0 0 0.2|%
250369 2|E4&TH |45 S ET AL F0E O 3 0 0 3|k AF3
250584 2|4 |45 S ET BH & @) 0.5 0 0 0.5[K AF3
250583 2|E4TH |45 S ET hE EHE O 0.3 0 0 0.3|k
250531 2|4 |45 S ET HRAR Sol REEMME B £EF| O 10 0 0 10| 7K %@
250368 23|E&TH |B R 7K ET IR E— O 1 0 0 11473
250360 23|E&h |B R 7K T EBith EX @) 1 0 0 11473
250532 23| x4 |B R 7K ET fERR @B= O 0.1 0 0 0.1|(
250560 23| E&TH |8 X 7K BT t% = O 0.5 0 0 05|4F3 |AOY
250559 23| E&™ |B R 7K ET HR BE O 1 0 0 1|7k #g
250558 23| x4 |B R 7K ET Bx 2 O 1 0 0 1|2=r<h
250453 23|E&h |B R 7K T At Bhfd @) 0 1 0 113hY
250557 23|E4&TH |B R 7K T A £z @) 0 0.5 0 0.5|A#MA
250398 23|E4&TH |B R 7K BT EE &M O 0 0.5 0 0.5|3hY Hp B AH
250442 23| E4&TH |B R 7K ET £l EE O 3 0 0 3|=hy Hh B A
250399 23| x4 |B R /K ET ] =W O 0.5 0 0 05|1F3
250430 23|E&TH |B R 7K BT w9 BE— O 0 7 0 7(2h Hp B AH
250429 23| E&™ |H R 7K ET AR =i O 05 0 0 0.5| /K %@ A4F3
250404 23| E&™ |B R 7K BT HR T O 0.5 0 0 05|1F3
250402 23| E&™ |A X 7K ET ¥ —IE O 0 3 0 3|zhy Hp B AH
250401 23|E&TH |B R 7K T TEH =2 @) 0 0.1 0 0.1[2h>
250431 23| E&™ |A X 7K ET HE EE O 0 0.5 0 0.5|2h
250432 23|E&TH |B R 7K BT &l FH O 1 0.5 0 15|k< bk RFYTIURY




EEZD E2EHLTH=RAMEDEL (ha) RIEFEED
DHES|azs| TOHE | EM R&XEBH ﬁfﬁég ?%ﬁéi Rl m | @ |zof| aF | 2 3
250387 25| F07KET FNKHET 12 R O 1 0 0 1|7k &
250496 25|F07KET FNKHET BE EE O 8 0 0 8|7k Fg
250001 25| F07KET FNKHET AR B O 1 0 0 1|7k &
250390 25| F07KET FNKHET R =8 O 1 0 0 k=]
250389 25(FN 7K BT FIJKHET R FK @) 0 2 0 2|HDA
250501 25| F0KHT FIKET 7 F— O 2 0 0 2|k
250500 25| F07KET FNKHET CF IR VAN O 1 0 0 1|7k &
250495 25| F07KET FNKHET T Bt O 2 0 0 2| K Fd
250388 25| F07KET FNKHET AL REE O 0.6 0 0 0.6| 7k &
250497 26 | B ET A BEHT BB BEE O 1 0 0 1|7k &
250466 26| Fa BHT A BEHT BEMERALLE AREE THA—| O 0.1 0 0 0.1|7k &
250595 26 | B ET A BEHT XKHE EE O 0 0.5 0 0.5\
250594 26 | B ET A BEHT KHE BUE O 1 0 0 1|7k &
250301 27| MET R IMET HE B4 O 13 1 0 14| % =
250480 28|ILETH IBILEETH EH BE& O 1 1 0 2| K Fd 75 I
250451 28|ILEET IBLLEET RE 23k O O 1 1 0 2|k 78
250330 28|ILETH B EETH AR B O 4 0 0 4| 7K ¥
250476 28|ILETH IBILEETR EF =X O 5 0 0 5| 7K Fg
250477 28|ILETH IBILEETR 2R XX O 10 0 0 10| 7K g
250498 28|ILETH IBILEETR B BEE O 1 0 0 1|7k &
250481 31|ILE™ |5 EE AT BEHEAEA EOET AEREE EF F=| O 3 1 0 4| 7K Fd WCS E$ ]
250409 32(WLE™ |H e SR T SaqIr—LlkRSH KEREE B KE O 0 1 0 1| IIAE
250479 32(lLEETH |5 BE SR BT KAt BOEE RRDEE B0 #— @) 0 1 0 1|R¥F
250478 32\ luEh |8 EE S BT RS BEEEEA AT(NT7—L RERME EES @) 0 0.7 0 07|1=3




FEIO¥] B2ZRETHIEAMEDEL (ha) RIEFEEYD
DHES|azs| TOHE | EM R&XEBH ﬁfﬁég ?%ﬁéi Rl m | @ |zof| aF | 2 3
250460 33|Fithth IB%githth alll & O 5.3 0 0 5.3|K Ea
250537 33|Fithth IB%githth HE A O 4 1 0 5|37~ |/KFE
250538 33|Fithth IB%githth AT ¥ O 1 0.5 0 1.5|7K & T RINSHR
250394 33|Fithth IB%githth R —E O 1 1 0 2|k %= BREY
250564 33|Fithth IB%githth SR &R1E O 0.2 0 0 0.2 7K F
250565 33|Fithth IB%githth R BA O 3.2 0 0 3.2|7KF
250459 33|Fithth IB%githth =& O 2 0 0 2|7KFE
250571 33| F M [Bggithmh E¥o7—LERSM xR mE 5xm| O 0 5 0 5|k EQTALYTY
250482 33|Fithth IB%githth PRI BARE O 2.1 0.3 0 2.4 Ea
250570 33|Fithth IB%githth EH AE O 0.3 0 0 0.3
250530 34(Fithh |B-E 3 ET Il RS O 5 0 0 5[ %=
250483 34(Fithh |B-E 3 ET PRI BARE O 1.1 0 0 IRIES %=
250419 34|%githth |B-E 3 ET iR B= O 5 0 0 5|7k & INE
250563 34(Fthh |B-E 3 ET BARH HHES REDWE 55 =Ex| O 15 0 0 15| 7K Fg %= =
250529 34(Fthh |B-E 3 ET A+ m=E @) 5 1 0 JES 1F3
250484 35|%ithth |BAEFE AT BRE —77—L RERIEE NE —H @) 1.2 1.2 0 24|k EQDMEYTY
250470 35|%ithth |BAB S H HXR HhrRELS fEDER as ®E| O 0.2 25 0 252 KREEE |DVvAMHKE
250587 37|EE BE&E A2 SUNRISE HEm#® @i &—| O 2 0 0 2|fA%¥HEY
250351 37| EE™ |B & SHT Pl - @) 1 0 0 1|WCs
250352 BlEEM RS EET (R E— @) 3 0 0 3|wCs
250414 39| KiEHT KiZHT RS TKERE KRKRDME Sk @) 0 5 0 5|\ XiR Sl 354 5
250591 39| KiEHET KiZHT 8 {REA O 0 1 0 (27
250423 39| K AT KIZHET BRen SHLLBRE KRIUER A BRE O 0 0.5 0 05(AS ES5HAZHE
250514 39| KiEHT KiZHT wReH S—OTvT KEDEE Ex LEl O 10 10 0 20(45)7 >




EEZD E2EHLTH=RAMEDEL (ha) RIEFEED
DHES|azs| TOHE | EM R&XEBH ﬁfﬁég ?%ﬁéi Rl m | @ |zof| aF | 2 3
250485 39| KiEHT KiZHT BR&H —H77—L wRBEE NE -5 O 2 100 0 102|kyEOQQ{A 5TV
250513 39| K EHT KigHT ¥y X O 1 0 0 11K %= =
250568 39| KiEHT KiZHT BRsH wreRE /ERRWE bE E=| O 2 16.2 0 18.2|H =&
250573 39| K EHT KigHT i BE O 1 1 0 2| HEE AA—ha—>
250395 39| K EHT KiZHT B2 —ih O 4 4 0 8|WCs 13)T7 Y
250575 40| P& ET F5HT AR fi— O 3 2 0 5| A5 IKFig
250576 40| & P& ET H5HET [ O 2.7 0 0 27| % JK#ig
250574 40| & P& ET F5HT i BE O 1 1 0 2| HEE RAf—ba—>
250424 40|45 5T Z[5HET ke srtLBE RERIWER BE& g2z O 0 0.5 0 05(AS ESHLAZHEE
250488 41| g TH | B ] % HT BK B O 10 0 0 10| HE& JK#ig
250588 41|FIERTH | 9 ] 5k BT BARM PAMIRS KERRHE Bl BE @) 5 0 0 5| K43 FK
250357 41| g TH | B e] K BT ik #H— O 2 0 0 2| K Fd
250549 42| g TH B—DEH [RA EXK O 0.2 0 0 0.2| 7Kg
250548 42| g TH B—0=El (4R AR O 3 0 0 3|7k Fd
250600 46| EE LAY E L ik % O 2 0 0 2| K Fd
250428 51|FEpER+  |FaRERe £ M O 0.2 0 0 0.2|#%E
250408 51|FEpER+  |FaRERe xE L¥E O 0.2 0 0 0.2| 7k
250407 51|FEpERA  |FaRERe &k CE O 2 0 0 2|k
250597 51(FafI&+t  |Fab&Est R Z75] O 1.5 0 0 1.5(7KFg WE
250406 51|mafTER+st  |FABATERAT HHE FK O 0.2 0 0 02|3S=hr<h |EHEFE
250373 51(FafI&+t  |Fab&Est BEMAEA KRN0 RREE ZE B O 0 1 0 1%
250567 51|FEpERA  |FaRERe EF £8 O 0 1.1 0 11| E
250566 51(FafI&+t  |Fab&Est A FME O 0 1 0 1|%E
250604 51(FafI&+t  |Fab&Est BER Bt O 3 0 0 3| HE




EEZD E2EHLTH=RAMEDEL (ha) RIEFEED
DHES|azs| TOHE | EM R&XEBH ﬁfﬁég ?%ﬁéi Rl m | @ |zof| aF | 2 3
250601 51|FEpERA  |FaRERe R EH O 05 0 0 0.5| 7K TI—A1—
250415 52(FE R+t 78R A RS TKEE KRKRDME Sk O 0 5 0 5|\& KR Sl 84 8
250569 52(FE R+t 78R A BReH whCRE KRREE Sl EE O 0 0.8 0 0.8|HEE
250396 52| R+ 78R A T —ih O 1 1 0 2|WCs 15)T Y
250425 58| 25 I T R EIHER  |Htei sHbemE RERRME KA E5% @) 0 05 0 05| A3 E53AC(|HE
250411 58|25 Sk ET PRFEHEE | RKHE A O 2 0 0 2| R RHE Y
250417 58| 4 455 BT hRFIHE (AR HE4Us KERME HEEE[ O 1 0 0 1|8*HED
250356 59| # Ik AT I A EE B O 0 1 0 HEEE
250416 59|25 5k ET A RS HKRE RERDEE SkzE| O 0 15 0 15| A5 KR Sl 84 8
250426 59| 25 EL AT WA Hh BER INLERE REIWE FBE E5E @) 0 0.5 0 05| A5 E5PACHEE
250418 59 | #% 35% AT WA Hh BRsit BEEAZEE REDHE £Bx—| O 1 0 0 &2
250412 59 &y ET A XKHE #A @) 0 2 0 2| A Y
250581 63| 1LLIERET |8 % &R ET HF EL O 0.4 0 0 0.4| /K&
250578 63| LLIERET I=ES::) BA RE O 0.7 0 0 0.7|wWCS
250579 65| LLIERHT |B#& (5 BT A XEH O 0 05 0 05| TI—A1)—
250580 65| 1LLIZRET |B &R F5 HT HE —B O 0.5 0 0 0.5|7k &
250577 65| 1LLIZRET |8 &R PS5 ET WA H— O 0 0.2 0 0.2|F
250503 66(/\ X ggg;‘—ﬁﬁiﬁ: EO EA @) 2 0 0 2|/KFE FR
250491 66(/\ X ggg;‘—ﬁﬁiﬁ: AN KE O 2 0 0 2| K Fd
250469 66|/\ X ggg;‘—ﬁﬁg =)l & O 0.5 0 0 0.5| 7K ¥
250505 66|/\ X ggg;‘—ﬁﬁiﬁ: 12H [EB O 12 0 0 1.2| 7K %5
250599 66(/\ X ggg;‘—ﬁﬁiﬁ: KE Wt @) 1 0 0 1|FrAY K
250457 |  66|/\ 7 ggg;ﬁﬁg W e o i of o ilxE |memz
250393 66|/\ X ggg;‘—ﬁﬁg o £ O 0.6 0 0 0.6| 7k ¥ INE




EEZD E2EHLTH=RAMEDEL (ha) RIEFEED
DHES|azs| TOHE | EM R&XEBH ﬁfﬁég ?%ﬁéi Rl m | @ |zof| aF | 2 3
250427 66|/\ X ',é',ﬁg;ﬁn%: Rk FEid O 3.9 0 0 3.9|k<h
250372 66(/\ X ggg;‘—ﬁﬁiﬁ: FE A O 1 0 0 1|7k &
250598 66|/\ X ggg;‘—ﬁﬁiﬁ: SFEOE O 0.4 0 0 0.4| /K&
250502 66(/\ X ggg;‘—ﬁﬁiﬁ: 7 O 15 0 0 157K %@
250410 66(/\ X Eggzﬁg msit FTEREE RRDWEE T #B—| O 1.8 0 0 1.8(Ff=IET |HEEARLFR [KTR
250506 66(/\ X ggg;‘—ﬁﬁiﬁ: BEAR JRER O 0.9 0 0 0.9| 7k ¥
250504 67(/\ Xt ggﬁﬁég EO EA @) 2 0 0 2|/KFE FR
250554 687K JIIET F4BER =H O 1 0 0 1|78
250397 68|k JIIET F4BER BRSH ENT7—L RERREHR EREX| O 5 0 0 5|1 E WCS
250596 16| NETh N1 kH B= O 2 1 0 3|k 5 e
250438 16| NETh N1 KER EX O 5 0 0 5| 7K & gRMEY
250386 16| NETh ATEH w E— O 5 0 0 5K %@ WCS
250354 76| A& AGH N F— O 0.5 0.5 0 1|7k #g A0 |HE
250508 16| NETh N7 B B— O 1 1 0 2| K Fd
250437 76| ANET N7 i f—Ep O 5 0 0 5| 7K Fg
250520 77|$RET FRHET it E&— O 1 0 0 1|8 *HED
250540 77|$RET RET RIR ER O 1 1 0 2|7k ¥ ERRHEY
250541 77|$RET FRHET T =— O 1 1 0 2| k%@
250527 18|HSEYHT  |HSEFYET  |RIR Flf O 10 4 0 14|k %@ cZA=
250522 1B|HSEFYE] | HITYET  (BE BE— O 1 0.5 0 1.5k EARHEY
250521 18|HSEFVYET | HSEFUHT it E— O 4 0 0 4| B FHEY)
250524 1B|HSEYET | HIFVET  (JIIF 18 O 1 0 0 1|85
250525 18|HSEVHT  |HSEYHT hA 1E5E O 1 0 0 1|7k &
250526 18|HSEYHT  |HSEYHT  |THEE INE O O 5 0 0 5| 7K Fg




EEZD E2EHLTH=RAMEDEL (ha) RIEFEED
DHES|azs| TOHE | EM R&XEBH ﬁfﬁég ?%ﬁéi Rl m | @ |zof| aF | 2 3
250523 18|HSEYHT  |HSEYHT RE 8& O 0.7 0 0 0.7|7K 7@ AB)TF Y
250518 18|HSEYHT  |HSEFYET  |fBE R O 0.9 0 0 09|fzIXZ  [weCs Ay
250552 79|% B AKHT % B KHET FEhoeATr—L HXLH RRIUGE RIS B @) 2 0 0 2|7k FE
250519 19|ZRAHT  |Z RAH BE XRIHB O 0.1 0 0 0.1(f=(FZ  |wes A0y
250553 79|ZRAHET  |Z RAKH Ik £FE O 20 0 0 20|%/8a K@ :HE ST
250550 79|ZRAHET  |Z RAKH Bl 518 O 1.8 0 0 1.8|7k ¥
250353 79|ZRAHET  |Z RAKH HiL BX O 1 0 0 1|7k & fzI¥S | &
250528 79|ZRAHET  |Z RAKH £ i O 5 1 0 6|7k cZA=
250493 79|ZRAHET  |Z RAKH A - O 1 0 0 1|7k &
250475 19|ZRKHE | RAH EB7A =8 O 0.8 0 0 0.8| 7k
250551 9|2 RKHE | RAH =H IEF O 0.1 0 0 0.1|7k ¥ A/83
250546 80| ;7 BITHT % il E] WA HKF O 0.4 0 0 0.4| 7k
250547 80| AT ET % BITAT XH EE O 6 0 0 6|7k %@ WCS -HE S
250572 82|+H R4t R BREMAEA EEKS K& £E B O 0.6 0 0 0.6|12T7Y|kyEATIY
250602 82|t B # R R B @) 1 1 0 2|7k F EARHEY
250509 85| LT 4 T B 15— O 1 1 0 2| K Fd
250603 85| LT 4 T A g O 2 2 0 4| 7K Fd gRMEY
250439 86 | Bk EE 41 BKEERS XER EX O 5 0 0 5| 7K #d gRMEY
250355 86| BREE #4 IREEH N F— O 0.5 0.5 0 1|7k #g A0 |HE
250473 87| XE iﬁiﬁf’ﬁ(m =H BE O 2 3 0 5| %K | TR
250405 87| XE™M i’%ﬁ?mlﬁ B &= O 2 1 0 3|7k 7@
250464 87| R&E™ i Eﬂ%u(lﬁ FH & O 1 1 0 2| B3 b/ &
250556 88| REh i‘;’%ﬁ%u('ﬁ FER EE @) 1 1 0 2|3 RN
250586 88| REh i;{ﬂ%‘;ﬁ(lﬁ TR OEE O 2 2 0 4|WCS




FEIO¥] B2ZRETHIEAMEDEL (ha) RIEFEEYD
DHES|azs| TOHE | EM R&XEBH ﬁfﬁég ?%ﬁéi Rl m | @ |zof| aF | 2
250536 89|RE |B 4 BRHET N OE O 1 1 0 2lwWCs |BRAX
250462 89| X E | BAHT 8K &A O 5 2 0 7|7k 7R BE
250463 89|RE |3 ERHET i O 1 1 0 2|7KFE
250555 93| XEM |H#FrFOET pE—ExoeE aRs mxua g ms2) O 3 1 0 4|7k 7@
250385 97| EXE™ |I[BXKREFE [RIF IE O 0 1 0 1|ERE |hEBLe
250539 97| EXE™ |I[BXKREFE |[BEEA BN O 0 1 0 1| ERE
250515 101 |35 3LHET e 4] ik &% O 1 1 0 2|7K 7R

E~ERES 458.1| 330.6 0| 7887




